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1] (a) Define the term cost accounting
{b) Identify and explain advantages of cost accounting

[ © ) What are the conditions of effective costing systern

[d) Explain the fallowing terms
(i} Cost centra
1i] Cost unit
(iii) Profit centre

2. Prepare a cost sheet statement from the following information

Raw materials 300,000
Direct labrour E0,000
Direct expenses 20,000
Factory remt 15,000
Factary power 5,000
Supervisor's salary 200,000
Administration expenses 40,000
Advertisement 8,000
Packaging expenses 7,000

MN/E : Profit is 20% on cost

(b) Explain the advantages of cost sheet statement
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ic ) Distinguish between cost accounting and financial accounting {2mks)

3. (a) The budget production overheads of dimax limited are as follows:-

Eudgeted overheads 36,000
Direct materials cost 32,000
Direct labowur cost A0, 00
Machine hour 10,000
Direct labour hour 1E, 000
Units of cutput 10,000
Required:

a) Determine the absorption rateof:

{i) Direct material cost (2miks]
{ii)Direct labour 12mks)
(iii}Machine hour {2mks)
{iv) Direct labour howrs {2rmks})
(W) Unlts of output {2mks)
{wi} Prime cost {2mks)
(b } identify and explain elements of cost. {3mks]
4. (a) Distinguish between marginal costing and absorption costing {&mks)

ib ) Identify and explain four types of standard costing [Brmks)

{c} What is variable cost {1miks)




= During the month of October 2015, Sany Sugar had the following transaction -

rl:hate Cluantity | price value date Oty sald Price value |
{Bags) ' and
received dispatched

Oct sh sh Oct

3 400 150 60,000 . 300 170 S1,000

10 &00 165 99,000 15 500 180 S0, 000

27 F00 170 115,000 26 BOO 200 160,000

27 S00 180 90,000 an 500 200 100,000

NBY There was an opening stock of 200 bags valued at Ksh 28,000. Each bag had been bought
at sh 140,

Reguirad

The value of clesing stock using the following valuations:-

(i) First in, First out (FIFQ)

(ii) Last in ,First out [LIFQ)

& (a} Identify and explain how labour costs can be determined

(b) Determine the possible causes of material stock variance

{c} Write short notes on the following:

(i) Wark in Progress (W.1.P)

(I} Prime cost

{fii} Indirect materials

EMD
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